TEST b 1 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@o}b{.,,lz;vﬂ
1) Atype of motion in which a body mover about its own axis is called: -+&MJrJ(%/Z /g I a
(A) Vibratory $z ~1s (B) Circular %/ (C) Random rfc;/ (D) Rotatory o
Il) A change in position in proper direction is called: _+3M&gu:ﬁ;4wyuu/ n
(A) Velocity J’” Us (B) Speed i (C) Distance b (D) Displacement Mw’
Ill) Least count of metre rod is ___. e ke A
(A) 1cm (B) 1mm (C) 0.1mm (D) 0.01mm
IV) By dividing displacement of a moving body with time, we obtain: :9@ﬂJ‘baL/ﬂi@5/ﬂJﬁ£ﬁJ}J{ v
(A) Declaration J’i/“d 5 (B) Velocity & Us (C) Acceleration u’i)/gi (D) Speed 4%
V) Base unitis__. b (V
(A) Watt & 1s (B) Newton 07 (C) Kilogram ',,/rj{ (D) Pascal Jé L
Vi) 0.027 has significant digits. _‘L;w"’u(urmuwuﬁo.w? (VI
(A) 1 (B) 2 (C)3 (D) 4
Write short answers of the following 2X7=14 q/f f"@uz/“%i.pmyd S
1) Define base quantity and write its names. u:“‘gu”'/(t/;u/.é} }Jw/wd}g& Qi
Il) Differentiate between rotatory and vibratory motion. fe 3/ y/uf uﬁrd YA }’{)’u (n
lll) Differentiate between scaler and vector and give example. - ;u‘”'ut‘wu S 5 1,0/'@?)’«5/,!/&6 (m
IV) Differentiate between displacement and distance. Q/ 5 s 3 A Lo G/;!MJ*US (v
V) What do you mean by zero error and zero correction. fesly L[c; uigug“//‘/;l/“/l;"/) (v
VI) Write the names of four derived units. _uf‘irtéu@}}l./%lg I
VII) Drive first equation of motion with the help of graph. - /jawm&iJ_Jk_u d/.}lj (v
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’
1) Drive second equation of motion with the help of graph. _Q/}’a’;Vd /»d/&/fc;ud/dlj (1

2) Write a note on 4 branches of physics. _uf‘i :J;u?lf?mﬁ/?' (2



TEST b 1 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@o}b{.,,lz;vﬂ

1) The study of internal structure of the earth is called: -9@&@!&(&V&uﬂgﬁﬁﬁj ¢
(A) Heat .17 (B) Earth physics J@»’/l (C) Geo physics ‘///;3 (D) Atomic physics J//J ¢l

1) Which is not a derived unit? e eyss Q
(A) Watt & 1s (B) Newton 07 (C) Kilogram ',,/rj{ (D) Pascal Jé L

Ill) Which quantity is scaler: ?‘a)rcjlﬁfu%( an
(A) Torque ot (B) Velocity & Us (C) Power st (D) Force w}

IV) A change in position is called: -‘QGM_&EJM&J{ (v
(A) Distance b (B) Velocity & Us (C) Speed 4 (D) Displacement M’:&u‘f

V) Least count of vernier callipers is: _+bn&5KMKJ4&( ﬁ/; (v
(A) 1cm (B) 1mm (C) 0.01cm (D) 0.01mm

VI) A ball is thrown vertically upward, its velocity at the highest point is: :Jn&” U}JJ'{(@Q}A_‘L (%J)J/?%/Mug (VI
(A) 10ms™ (B) —10ms™ (€) 100mas™ (D) Zero #*

Write short answers of the following 2X7=14 q/f f"@uz/“%i.pmyd S
1) Define Plasma physics and Geo physics. _quy /d/ﬁz?/m/?,»ﬂg Qi
I1) Differentiate between speed and velocity. -J S 5 b3St S aslkyr (NI
1) Write down the formula and unit to find acceleration. _Q/:/f&guﬂzﬁ@!_/r)’”‘ﬁfg’ (m
IV) Define least count and write least count of metre rod. _u:f‘@/‘% sy Y, S /?J&S Ko (IV
V) Define vibratory motion and give example. _J";Jli‘mu"/..y/"'d/uﬁ/d/’:/’; (v

VI) Differentiate between machenical and digital stop watch _u:“‘@/bj}@b*&«ﬂﬁm@b?lﬁ«ﬁ (Vi

Vi) Asprinter completes its 100 meter race in 12 seconds. Find JJ’-‘L I i»gf/”’..“l oou:iv?mdj%,g il

his average speed. -J /?)’CQ;M!

Write detailed answers of the following 5X2=10 Q): ;a@’ﬁwéaﬂl/gi}gjﬂ
1) Write Sl units of base quantities. _u‘f{j’b‘ QSIéuuL&'fd;y’f (1

2) Drive third equation of motion with the help of graph. _q/jélabl/d/fd/&/fc;ugfdlj (2



TEST b 1 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@o}b{.,,lz;vﬂ
1) Which of the following is a vector quantity? = }‘Z/i&ujﬁ;uﬁd 500 (1
(A) Power s{ (B) Distance 40 (C) Speed 4 (D) Displacement .w’:gw’
Il) Amount of a substance in terms of number is measured in: -‘a_&gKL/(}"‘/i&d/L;Lui'&u/ (n
(A) Mole Js* (B) Newton /% (C) Kilogram (L% (D) Gram (1.
Ill) The number of significant figures in 0.00580 is: -+;ip3d/urmuguuﬁ0.00580 (m
(A) 2 (B) 3 (C)5 (D) 6
V)a=__ ? a=___ ?2Qv
w Y ® © " o) L
V) The acceleration of a body falling down freely is approximately: ‘ L“n@ }jﬁ)’“(l K()'Lbé./él;iﬂd/’u%‘; (v
(A) 10ms™ B) 10ms™ (€) 10m*s™ (D) 10m*s
VI) The number of base units in Sl is: -‘a;iﬁJde;gui(Sl)ﬁ}'ﬁ/ QY
(A) 3 (B) 6 (C) 7 (D) 8
Write short answers of the following 2X7=14 Q/gfaglﬁfgéoﬂlrgi}gjﬂ
1) Define gravitational acceleration and write its value is SI Unit uf@égfmuﬁj‘gsmu/bﬁgﬂ!ﬁfguﬂdg/ ¢
1) Define base and derived quantities. _J”/..y /Uu,,wm,,u,g n
m :/r:/;)r/l;; Lhni?use of zero error necessary in a measuring e S Ng JL»WK/“/!;“/J ST ng“ an
IV) Differentiate between circular and rotatory motion. - A ug&}uﬁ‘ uﬁy‘d /”{J}w!uﬁr/g/ (v
V) Can a body moving at a constant speed have acceleration? e D:n‘;ﬂ)/g!uﬁ (@_!,4‘_ S G dpr i (W
VI) Write the least count of Screw Gauge. -uf{v% @«:’Kﬁz/& VI
VII) A car traveling at 107715™" acceleration uniformly at 225~ lomS_lén(}/ﬂcﬁ)/glpLﬁgg Z2ms™ 6 L1 (vl
Calculate its velocity after 5 seconds. ?Jngf Us JJ Ll e S-« G{/J’ Lad’” U;J
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’
1) Define motion and explain its types _J"/uyﬁrjﬁ?/(lﬁ’d/fr (1

2) Write a note on Screw Gauge. _u:“ﬂ :J/? (‘3:{/& (2



TEST b 2 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION

TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@o}b{.,,lz;vﬂ

I) Inertia depends on: _+rn4_/uflggﬁji a
(A) Velocity & Us (B) Mass U\ (C) Net force w;’bf’g‘ (D) Force w}

Il) The unit of weight in System International is: -La&gl{ubuiﬁ}i(‘/ n
(A) Newton (B) Pound %3} (C) Kilogram ',,/rj{ (D) Dyne /13

lll) The force oppose the motion of a moving object is called: +JM+ 3/(1,5@&7!/&@*& Léu}”»ﬁw}u (m
(A) Work s (B) Power .s| (C) Friction gf; (D) Momentum (b”;/r‘

IV) If velocity of the body becomes double, then centripetal force will be: -Jﬂw}ﬂd /’-’:./LLm; L tf»ub“ Us d/()u/ (v
(A) Half ._.&Jy (B) Double greater »sJ s (C) Triple greater u&)t@f (D) Four time greater uyuﬁtg
V) Unit of momentum is: -‘Ldfigﬁi/}" (v

(A) kgms_] (B) kgms_2 (C) kg_lms (D) kgsz_1

V1) The weight of a body is 147N. its mass will be when g =10ms™ L6 U1 147N 6T (VI

(A) 147Kg (B) 0.147Kg (C) 14.7Kg (D) 1.47Kg
Write short answers of the following 2X7=14 J,,/.. ;yz/géomrdj;;yp
I) Differentiate between force and inertia. _J"/ 5 b3 ? ()
Il) State Newton first law of motion and give equation. _u:“‘gup'/obku/ﬂu] Giky Kui% n
lll) What is the law of conservation of momentum? ?;.gw G’K‘ﬁufé (bxfr Cm
IV) Write two advantages and two disadvantages of friction. -u‘.f‘ic«tuﬁ;wu’!;’néﬂ av
V) How cream seperator work? ?‘L L"/r KT /’u’;": 4 é// (v
VI) The weight of a body is 147N. What is its mass? U1 147N Kﬁ.,g i
Vi) Find the acceleration that is produced by 20N force in a _‘Ld‘//dj W}JJ;&(’)/?KVQLJ L(l/;KS (VI
mass of 8kg. _Q/(}’“‘ﬁ Iy d_ sl JEJ

Write detailed answers of the following 5X2=10 J/’: f"@gtzwéwmz Soukr
1) State Newton second law and drive equation. _q/;alww,u/ﬁuim/» K (1

2) Write a note on friction and its types. -u.‘f‘ﬁ.bi/?rl,l"’gfu‘wuj;; (2



TEST b 2 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@o}b{.,,lz;vﬂ
1) The centripetal acceleration is inversely proportional to: _+bnﬁg;4&)iﬁfgﬂdﬁ ¢
(A) Mass Z UL (B) Radius < <4 (C) Both & (shs (D) Velocity £ (s
Il) The equation of momentum is: -9al;quyr n
(A) p=mv ®) p=mv’ (©) p=(mv) 0 p=""
Ill) The force required to move the car in a curved path is: ‘L&}’Z:«JJ/}JU’J}_iLL?/?J’UVo//l)jjg (m
(A) Tention u:“b (B) Centripetal Ji"ed}z{ (C) Centrifugal J@d}z{ (D) Gravitational ﬁdz’//
IV) Coefficient of friction between the tyre and wet road is: -‘aéﬂoxf d/f;._ﬂg/f& l/uy/;iﬁ’ugﬂ/’% (v
(A) 1 (B) 0.8 (C) 0.6 (D) 0.2
V) Which of following material lowers friction when pushed between u,l,wﬁu}? dbé.nﬁfﬂa@f ;‘;“J/ cdfdf Spkr (g
metal plates. -‘aétgnﬂf%wiuv.é/
(A) Ol S (B) Air Is (C) Water dg (D) Marble powder A’S&JJL
VI) When a horse pulls a cart, the action is on the: ?‘Ltﬁéufﬂ'ibacgﬂdjg"j}{% (vI
(A) Cart £ (B) Horse 35 (C) Earth ¢&J (D) Cartand Earth RIS
Write short answers of the following 2X7=14 "/: L@lﬁ/?z:.:aﬂifd Soun
1) Define force and write its S unit. _u’fi&gSIKJu}u/..yfd/u‘/} q
Il) State Newtion third law and give one example. -Q’Uédffzﬁ’q/uylﬁ’%/bxi an
Ill) How seat belts are useful at the time of driving? _Q/:/ﬁ’!;’ui'&lg&%&;'&ugd% (1]
IV) Define momentum and write its equation. _uf‘@’fww,u/.g /7&/ (a“/r (v
V) Write the advantage of banking of road. _q/{ fo/ﬁb/ 3T (V
VI) Differentiate between centripetal force and centrifugal force. _Q/ 5 l)J}uiw}ﬁd/%;l J‘igu’ /”-'f (vi
vy A mass of 5kg is moving with the velocity of 10ms~. Find _‘L‘L//&//cf U;J“ 10ms™! Kup K('/;KS i
the force which is required to stop it in 2 seconds. ?%gw}&/iiiﬁjuﬁﬁJ?Z/J’
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’
1) Find the tention and acceleration in string when two bodies T»ffww’»ﬁq#ﬁ*ﬁﬂwﬂadﬂj (1
attached with string move vertically. _ugL/://

2) State and explain Newton third law of motion. q/yu,wimﬁéu@é@é (2



TEST b 2 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) Rate of change of momentum is equal to: -‘L@Mc}d/ubfuﬁ (b”;/r‘ ¢
(A) Distance b (B) Mass U\ (C) Force w;’ (D) Torque ot
1) Newton first law of motion is valid only in the absence of: _‘at“m}ubigd//uiti%ﬁuﬁxiui'uﬁ;ﬁr/éd/f n
(A) Force u’u" (B) Torque Lt (C) Friction ‘f} (D) Momentum ffr
II1) A string is stretched by two equal and opposite forces 10N each. Srdhlp-c e sulrddendSnsdi
The tention in the string is: :fnﬂbﬁdﬂﬁ_‘LmN/lﬁf
(A) 5N (B) 10N (C) 20N (D) Zero 3
IV) When the cyclist stops pedaling bicycle stops due to: -:_,?;_‘L(}L;JJ?/ V+Q;J/t6/;J4J% .«@L«bfe (v
(A) Mass J'L (B) Weight (/s (C) Friction ‘f} (D) Momentum (b‘f/
V) A mass of 6kg is moving with acceleration of 272> . Force action on it is: :Lfnw;’d/u'“’g !ﬁl‘a 2m™ ‘ﬁ/’gﬂ K6kgLl (V
(A) 3N (B) 4N (C) 8N (D) 12N
VI) How much acceleration is produced by force of 100N in mass of 50Kg? ?fg//!/:;‘ﬁ/"gi lﬁ(f/h OONU= LLSOKg i
(A) 0.05ms™ (B) 0.5ms™ (C) 2ms™ (D) 20ms ™
Write short answers of the following 2X7=14 fotli/'gioﬂlrgf SounA
I) Why rolling friction is less than sliding friction? ‘e Srusd ﬁ/c_u’;.f uj/.ﬁu a
Il) Action and reaction are always equal and opposite, then / :’u‘gfu" _/Jlf’/(/l/.»’ u’( ldw!u’g {
how does a body move? “LL/ bfff 3
Il1) Define dynamics. NS AN R( |
IV) What is meant by coefficient of friction? ?+;yg¢fﬁqfw& (v
V) What is meant by banking of road? ?a‘-;’/gc_é’u.:'ﬁﬁ@ (v
VI) Define force and write its S| unit. _u’fi&gSIKJu}u/..yfd/u‘/} i
Vi) fl:m s;T;uch force is needed to prevent a body of mass 10kg from . o b 3 u}‘@_ S e 5 /C(f) Vg e o /310 il
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’
1) Define rate of change of momentum and also drive its equation. -J/jéiui;V/;iJ/de/C}d/Jiu‘ ,/bz*/r (1

2) Define centripetal force and write its equation and write factors '191); /SU?JVUVJJU)IJ/J /’d/wid“’d Tl (2
on which it depends. ('atr/J’lfu( L



TEST b 3 PHYSICS 4 9th) (s T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

) Two equal but unlike parallel forces having different line of action produce uj;&ﬁ%nﬂﬂulﬁﬂKu?y/}J’lﬁJUuwgd;V» ¢

(A) Couple (B) Torque (€) Equilibrium ¢ /$4
1) The centre of gravity of irregular shaped body can be found with help of: ‘LG‘:@J(PQJAJ_&g/;JT/"LKK()‘L‘ﬁmG;VQ a

(D) Neutral equilibrium(é 24 1. s2

(A) Metre rod 51,4 (B) Wedge <6
Ill) The formula of Torque is:
(A) E=F x L (B) T=FxL

IV) Horizontly placed pencil is the example of ___.

Equilibrium Stable equilibrium
N gast ® Caskyyen

V) The number of vectors that can be added by head to tail rule is:

(C) 4
Vi) If 10N force is making an angle 30° with x-axis then value of

(A) 2 (B) 3

vertical component is:

(A) 4N (B) 5N

Write short answers of the following 2X7=14

I) What are like and unlike parallel forces?

II) What is resultant of forces?

m What do you meant by perpendicular components?
Write down the formula to find its direction.

IV) Define moment arm.
V) Explain 2nd condition of equilibrium.

VI) Define torque and write its unit.

What will be the torque it a force of 150N is applied on
ViI)
a spanner of 10N?

Write detailed answers of the following 5X2=10

1) Explain stable and unstable equilibrium with examples.

The steering of car has a radius 16¢cm. Find the torque
produced by a couple of 50N.

(C) Plumb line /U st

(C) E=FxT

) Neutral equilibrium

(C) 7N

(D) Screw gauge C“Kgf
—e UK
(D) L=FxE

e Jed Sy @ av
D) Unstable equiﬂbrjum
RS 2 EASE g6
e PGS e Jufosia (V
(D) Unlimited »(s'1
Uee Qg6 300 AL P XL §e10 i
_an{u”ftfw}

(D) 8.7N
7 fe iz L e Wi S s i

?Laﬂ/gcfz;’gy’ﬁjﬂu’u’jﬂ q
?LQJVQ(L//}JT.‘;}UZ/ an
u:‘ZKKL/r)’fMJu’?%JygLﬂ;{d;/ (m

_Q/,y/d/pl’wr (v

S Ao Sb E S SEAGE T (V
ol g S S5 (i
A i b 38, A 10emun S 150N (il

A7 Fe iz L e o i

_u:/'/.:)D}auﬂffd/ﬁﬁjd:g!{'{rgﬁfﬂy‘/?rg (1
JFL 50N 160mU S E3L KL
_u:/()b’..«ce’ﬂbd‘_ﬁ’&c'_



TEST b 3 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 VDTN (1))

) The perpendmularldlstance bgMeen the axis of rotation -LL“MKJJ;’J»JGd;fJﬂFJTJUJw}Lﬁ/Jng' Q
and the line of action of force is called: ‘

(A) Work s (B) Momentum (b‘“/y‘ (C) Torque Lt (D) Moment Arm (/Lf:/r

1) The types of equilibrium are: _ug@nuﬁ")w é/d,f x{
(A) 1 (B) 2 (C)3 (D) 4

Ill) Number of factors on which Torque depends: -‘aﬁmrﬁJJuﬁ_uLmuu“t/Je (m
A) Ma}ss and Velocity B Force and Mass C) For)"ce and Vglocity D) Force and Moment arm

g’ /Jtmwi SVl s L0 Tecarl o9

IV) The turning effect of a force is called: _uggff/iwfiw}f/ (v
(A) Work s (B) Pressure /"L/? (C) Torque e (D) Momentum (b”;/r‘

V) Mathematically first condition of equilibrium is represented as: -‘LL/“J'?J é/u’;g l{/;b(}u (v
(A) > N=0 (B) > R=0 (C) >F=0 (D) > r=0

VI) The number of perpendicular components of a vector is: _‘agmiﬁd/ﬂ;{d»fﬁﬂ/w/ Vi
(A) 1 (B) 2 (C) 3 (D) 4

Write short answers of the following 2X7=14 q/: f.:«@lﬁ/?z::«wfd Soun

I) Differentiate between centre of mass and centre of gravity. - /i 5 l;J}uﬁ C}; gf.i%ﬂu‘ LJT}"" q

I1) Differentiate between stable and neutral equilibrium. _in!;ﬁ/'ufﬁ;‘d;‘:’d}’xiu’“f/?(g an

Ill) What is meant by resultant vector? ?‘L;!/y/c}{;.u“z/ an

IV) Differentiate between axis of rotation and moment arm. %,J}L[uﬁrﬂwnﬂy%i/d!’/g (v

V) On doubling the moment arm, what effect on value of torque ?grﬁlWJJJﬁcL/W;JJ(/TMF (v

VI) What is Head to tail rule? Explain with example. _u/m/;;dwg_;/u@_dud“w i

Vi) How magnitude gnd direction of a force can be determined df(_ u’“ ;)/u’»féu’ ’/J/;l/wfd/ u’u’(f( Vil

from its perpendicular components? _J/ fumﬁz_ U:b Lf()”
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’

1) Explain 1st and 2nd condition of equilibrium & derive equation uf{ff_»,uw,u/uw/“d/»m&i&é/d,{r (1
A force of 100N is applied prependicularly on a spanner at a Jff;/4ﬁ4£5£100mc¢juvid/1OON (2
distance of 10N from a nut. Find the torque produced by force. _Q/()VJ B’Ubé.n@;aJ’9@/



TEST b 3 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
1) Anexample of neutral equilibrium is: -‘adt‘fd/ﬁjd:gid/"xi q
(A) Block Sk (B) Foot ball Ji.2? (C) Pencil at its tip./ % \J* (D) Book on table U=
I) Inisolated system the momentum after collision of two bodies is: -g%/f"/r%wi.u';!ﬁ;ui(‘/ TN
(A) Increases < 'b2»%  (B) Decreases LLL?'[?}’Z{ (C) Constant ‘al:wuw'/ (D) Zero < tlossysJ
1) First condition of equilibrium is: b /“J%J sk an
F F
(A) X F=0 (B) X7 (€) 270 (D) 70
IV) Racing cars are made stayable by: u(uiug&tg&lauﬂr“u/l{,@/ (v
(A) Increasing their speed (B) Decreasing their mass (€) Decrea§ing their width D) Lower[ng theirgenter of gravity
Son ks ZS A8 LIE Sy /T~
V) A body satisfies second condition for equilibrium if the resultant Ubé./«j’zulﬂ% I d/,gb ;d /»J K/d;{ I(ig (v
___acting on it is zero. g ey,
(A) Force w} (B) Weight /s (C) Torque e (D) Momentum (b”;/r‘
Vi) The centre of gravity of a body is such a point where the whole uJ;KJiuyz+bnb5Igbgng& g/JT/‘"‘KﬁJ( VI
weight of body acts ___ . - L“/f q@d/ _
(A) Vertically upward/?;'u““; i (B) Vertically downwardgj;&; i (C) At origin 4u?o/,l (D) Horizontally downwardg‘;f;/
Write short answers of the following 2X7=14 J/f/f.:,glg/?z::«wfd souns | f@ /,‘U’r‘
I) Whatis meant by neutral equilibrium? fesly yﬁ;(:}d;@d}’xi a
) Define Torque and Rigid body SIS e
lll) State the principle of moments. _q/uy.dﬂ%u}? (m
IV) Differentiate between line of action of force and moment arm. _Q/ 5 ’;J/'uf.‘p!’wn;luﬂ}d'fuig UTJU (v
V) State first condition of equilibrium. _q/uy.z/‘&i%/d;@ (v
VI) Why the height of racing vehicles is kept as lower? ?w&@fju[[ﬂJugifv@,/ (vI
Vi Find the vertical components of force of 50N making an _c‘_u”ub.,;l% 30° JL/Lfg’xu’u’d/wN Vil
angle of 30° with x-axis. -J /()”M:{d;f KU1
Write detailed answers of the following 5X2=10 q)}/’.puzwéwvd Ryl (3 /.’U’r‘

1) What is meant by rosolution of forces and explain with example. /o lose Je sl Ve 3Ty (4
_q/?k*ﬁ;{dm,t@féw}u’-9g/§{($1jup‘¢§u,;ujKz,/;3ojv£Jb/u7”fz¢w}J 200Nl (2

A man is pulling a trolley on a horizontal road with a force of 200N making 30 degree with the road. Find horizontal
and vertical components of its force.



TEST b 4 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) The value of gravitational field strength near the surface of earth is: _‘Laﬁwd/iyﬂdg/;,; /.Zi/u(uﬁj (i
(A) 5Nkg™ (B) 10Nkg™ (C) 20Nkg™ D) 30Nkg™
I1) Ataltitude h, the value of "g" can be determined by the formula: -‘aur/GKL/(}"‘ogd/“g”gdAh n
A) i B) ke ©) i O) Gici
lll) Value of gravitational acceleration at 1000km above surface of earth is: Ic«xz Jﬁﬂﬂdz&dﬂ;ﬁfu@}f% 1000 (111
(A) 3.7ms™ (B) 7.3ms™ () 37.3ms™ (D) 9.8ms™
IV) The distance of Moon from Earth is nearly: -‘L,L"G@; /"c;uﬁ%/:lg (v
(A) 3800km (B) 37000km (C) 370,000km (D) 380,000km
V) Velocity of Geostationary satellite with respect to earth is: _baub“ Us d/ S /"‘f‘}f.ﬁck@ﬁuﬁj (v
(A) 42300kmh™"  (B) 3070kmh™" (C) Zero 3 (D) None 3y
VI) Formula to determine the value of gravitational acceleration is: -LLU}OGKZ./(}‘Q:J: d/u’i)/g' ﬁd{f i
= B) iy (c) S () MR
Write short answers of the following 2X7=14 /’:/ L@lﬁ/?z:.:aﬂifd Soun
1) Define law of gravitation and write its equation. -uf@uw,u/_g /7&;)) 5L ﬁdz’/ (I
II) Whatis meant by the Force of gravitation? fesly y/r, gﬁf& Z/JTJ/:" n
Ill) Write the value of and unit of gravitational constant "G" in S| units. _uf‘@fguugd/“g’w}(ﬂdg/ﬁuﬁﬂ& am
IV) Why is the value of "g" different at different places? e Srrurd- i, U= (9" v
V) On what factors the orbital speed of satellite depends? ?§_ &n/fzu) A d( J;/@Zuﬁjd/:/ 14 (f( (v
V1) Define geostationary orbit. JS e TS Sz (VI
VII) Why law of gravitation is important to us? ?‘Lﬂ’U}:Q—L/L’ZUJG'Kﬁd{/ (v
Write detailed answers of the following 5X2=10 q)}/’.puzwé.pmyd Soukr

1) Determine the mass of Earth using the law of gravitation. J/ﬂ”u’h(ui’ié.n&/d%’ui@’?ﬁd{j (1
2) Explain motion of artificial satellites and drive the equation.  (f /;alwwu/yu,u@ruffw S (2



TEST b 4 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
I) The orbital speed of a low orbit satellite is: -‘L&n,égd/é./u%//u@/ W:’Laﬂ{i (i
(A) 8ms~! (B) 80ms™! () 800ms™! (D) 8000ms~"
) The value of "g" ata.height on Earth's radius above the ‘Lgﬂ{dﬂd!VLLﬁé/iuficuﬁii/égu(“g” al
surface of the Earth is: ‘ ;
1 1 1
A) 2 B) - C) - D) -
(A) 29 ()2g ()3g ()4g
lll) Earth's gravitational force of attraction vaishes at: :9@@14 &w}ﬂdg/&yﬁj (m
(A) 1000km (B) 42300km (C) 6400km (D) Infinity /?,Lfls;;ﬁu
IV) Mass of the Earth is: —e UL (IV
(A) 6.63x10%*kg (B) 6.63x10** kg (C) 6x10** kg (D) 6x10*kg
V) The Moon completes its one revolution around the Earth in: -‘awcﬁ;iiL//J% lgb/ZuﬁJ,c,lg (v
(A) ¢225.3 (B) ¢»27.3 (C) ¢»29.3 (D) ¢»31.3
Vi The value of "g" on Moon's surface is . What :?xu)%f)ﬁmOkg{;g-al.6mS_2 utang{é/d;& I
will be the weight of a 10kg body on the surface of Moon? e ’ ’
(A) 10N (B) 16N (C) 100N (D) 160N
Write short answers of the following 2X7=14 %’/:/f:zyﬁ/“géoﬂlrdjgjﬂ m
1) Define Gravitational field strength. What is its value near Earth? £6Jui’;;.q};g/&g§lbdi&’ ’idg QI
e el VUi,
GM 7 GM . _ -
) IR is doubled then what will be change in & =% ? snd Ut g = 92 bl Wy R
g 2 LAY e Y

What is the height and speed of Geostationary satellite from o R iy 5 e ¢
) the surface of the Earth? "Ll’{%‘w dALuﬁ/a{u’*Mdﬁf (i

IV) With what force an apple weighting 1N attracts the Earth? ‘L%{‘.{Lw;’ﬂ v ..J_Lagfxﬂ UJ;K&_,{VQ (v

V) State the difference between natural and artificial satellites. - /ug.[}}uf e o &;ﬁu'&r’” (v
VI) Prove that gravitational force is a field force? -9w}iyvgw}ﬂdg/7 J /cf.t“ i

VII) Why communication satellites are stationed at geostationary orbits ?ungg;f{ u;;'/ Ui 18 /"3.’.”‘,5?@:’/1}‘2“ u’»"“c:,%/ v

Write detailed answers of the following 5X2=10 Q)}fo@lﬁ&,«ﬁloﬂvd pry Sl (3 /:‘U’r‘

1) Explain the variation of "g" with altitude. J e Los | J: FRGFLS (1
2) State Newton's law of gravitation and drive its equation. _Q/jé’u;ku‘f@] Wﬁdgf KJ}.% (2



TEST b 5 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 J @a}b{.,«b?://; (1 /,‘U’r‘
I) The work will be zero when the angle between the force and the distance is: -« byl ipndl o ts/,u}%,z fn}‘u@ a
(A) 45° (B) 60° (c) 90° (D) 180°

) The work done lifting a brick of mass 2kg through a -Knu@gng@LfdAJKSLﬁJMi.gJ(i/;KZ Qi

height of 5m above the ground will be:

(A) 2.5J (B) 10 (C) 50J (D) 100

Ill) The energy stored in coal is____energy: _%&ji_&jlo}oj';'uﬁf:’/ an
(A) Heat &z (B) Nuclear /'55 (C) Electrical Jé}? / (D) Chemical Jé‘f

IV) Which device converts light energy into electrical energy? ?+3f¢gg:&juﬂ;?:/&j:¢/uﬂgst (v
(A) Photo cell ij;’ (B) Electric cell JfJ}gl (C) Generator = )ZJ}’?' (D) Electric bulb JJ}’?I

V) The efficiency percentage of an electric lamp is: - Jiﬁ%&,{J}?w (v
(A) 5% (B) 10% (C) 15% (D) 20%

VI) The kinetic energy of a body of mass 2kg is 25J. Its speed will be: -UCF/;;{U(JL‘LZ5J&/.’ VQ&KJ()'VQL(!/% 2 (VI
(A) Sms™! B) 12.5ms™! (C) 25ms™! (D) 50ms™!

Write short answers of the following 2X7=14 Q/gfaglﬁfgéoﬂlr‘ijgjﬂ
I) Define work and write its Sl unit. _u:f‘@f'gtéwmu/_,y/."d/v@ a
1) Write the definition and equation of K.E and P.E _ﬂu;wﬂ_gfu(&ﬂf‘fgm&ﬂ_,@b/ n
lll) Write the names of four types of energy. _Q///T'tiru"l/gd‘}//gf&j’ (m

IV) What is soil erosion? Sl e 3U3E IV
V) Differentiate between machinal and chemical energy. _Q/ 5 DJ/U: J./'Ué‘{/;l J{’fc (v

VI) Why fossil fuels are called non-renewable from of energy? ?9V%%(u{ £ 45@@% &/’l/ﬂyfq/ 2 (VI

VII) The kinetic energy of a body of mass 2kg is 25J. Find its speed. ey JJL+J£ 2507140 gu(f)“’gigi;if (v

Write detailed answers of the following 5X2=10 q)}/’.puzwé.pmyd Soukr
1) Write a note on any four forms of energy. _%F&J;(Q’/gdé/d/&)l (1

A man lifts 200N weight up to the height of 10m. ’ Ay g 5
2) LT e BT E S 10m A s200NF L (2



TEST b 5 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) Atwhat angle between force and displacement the wrok will be zero ‘aén}‘ﬂﬂ‘ﬂ.«cu?zraui uwi Mu!w;’ (i
(A) 30° (B) 45° (c) 60° (D) 90°
Il) If the velocity of a body becomes three times greater then kinetic energy will be ufnu’./"..,@jé K ?93@»"/.[‘«@5 6’ Us d/f)f' (n
(A) Three times (/o5 (B) Four times ¢t (C) Six times b2 (D) Nine times (/¥
1) One jole is equal to: —e sz A
A) 1 B) 1y © (D) 1N x 1
IV) Capability to do work is called: _q.!féfq?Wd/L/inﬁu/ (v
(A) Power L (B) Momentum (5“/% (C) Torque Lt (D) Energy (.~
V) Kinetic energy is directly proportional to the velocity of a body: -Laénﬁ,gu? u"}gﬂj’éub’ U;d/()'u?ji u@&K (v
(A) Square d/ (B) Two times ) (C) Three times l;fuf (D) Four times Ujlg
VI) The energy in the stretched bow is: _‘Q&M&jbzrui' uu/émf Vi
(A) Kinetic &3¢ (B) Elastic 14/ (C) Both Ush (D) Heat &7
Write short answers of the following 2X7=14 U e U2 A e Wi} 5 s
1) When does a force work? “c.&/J;J u’u" q
Il) Differentiate between kinetic energy and potential energy. _J/ 5 I;U/u" & /U’?A’J&K n
lll) Define machinal energy and give two examples. _u;u"‘wa/.ﬂ/’J&/!J{”ﬂ (m
IV/) Define joule. g/ 5z (v
V) Define mass energy equation. _J/.ww;d/c«blxcff" Jb (v
VI) Why do we need energy? e drur'/ ) /d/ AU (v
VII) A car weighting 10kN has speed of 20ms™" . Find its K.E &&KJJ"L 20ms~ lw&gi}jj;ﬁgj (vii
Write detailed answers of the following 5X2=10 q)}/’"agmaﬂéoum} Spu
1) Write a note on major two sources of energy. uf{u’/ &/);/}JL& A (1
2 Calculate power of pump which can lift 200kg of water %Jdﬂ&/au“ﬁm/dtzoomux

(2
through a height of 6m is 10s. _J//(:J’“‘ALJ_.«A:-QLC



TEST b 5 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 u" ;/._,L?.//:
I) Rate of doing work is called: —UZ‘J}(Z//U(L/JJ a
(A) Momentum (b”;/r‘ (B) Power s\ (C) Torque e (D) Energy (5.1
Il) Energy stored in a Dam's water is: _‘afﬂn&jioﬁo})u@gﬁﬁ (n
(A) Kinetic ..@d/l{ (B) Electrical Jé}?l (C) Thermal J’/? (D) Potential J"”"’Q
) SI unit of work is: —eySIEs
(A) Watt =1 (B) Joule J# (C) Newton /% (D) Pascal gf” Y
IV) The work will be maximum when angle between force and displacement is ‘Lt‘n:/)'/'uy‘/)éy G/;iu’/}b,z Km)p:.b/..@ av
(A) 0° (B) 45° (c) 90° (D) 180°
V) The efficiency of solar cell is: -‘L&}’ZU'?&IA-‘.’.;JJ:/}’ (v
(A) 3% (B) 6% (C) 8% (D) 12%
VI) 10 jole work is done by machine in 5 seconds. Its power will be: _Jn/;gJJ?di;L/deﬁ‘IOui'ﬁ?S Vi
(A) 2W (B) 10W (C) 25W (D) 50W
Write short answers of the following 2X7=14 q/,/f"@uz/“%iwvd S
I) Define kinetic energy and write its equation. -m@uwnqﬁg}&&ﬂu@{ (|
Il) Define energy and write any two kinds. _uf‘ﬁrw!»o“&:@u/.éfd/&/" (n
Il) What is meant by efficiency? Sl u’*ﬁcﬁ’ an
IV) Write a short note on solar cell. -uf‘ﬁ.bi/g/?df/r (v
V) Define potential energy and write its equation. _q/blur/GKu”fJ/de/&)lﬁ (v
VI) Define mass energy equation. _J/.,» LP}JV’}VJ/’ Jb (vl
Vi) A body of mass 50kg is raised to height of 3m. What is its d/u’ e, L I dAd/ 3m/ﬁ Z Lr'/}g 50 Vil
potential energy? -J /pl’”‘f /I J’?
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’
1) Write a note on any three renewable sources of energy. uf‘Li)ébL»ﬁJ GU’“ LJ/LJ 21 (1

2) A mass of 500g strikes the ground with. How much kinetic & U;d/ 20ms™! e ¢*ie-500g K UL (2
energy 20ms~"! velocity of stone at time it strikes ground? *’u(fu{? /l.«CvdK JJI_J;gl/(c;u*/_LL I/(:_



TEST > 6 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
I) Inwhich state molecules do not leave their position? ?L/”;ﬂ;’uffijg@ Iﬂgg Luﬁ:)buﬂ@r CZL (|
(A) Solid J;;’ (B) Liquid él. (C) Gas u”f (D) Plasma LJik
1) The upthrust of liquid is given by: _LaUr/lSKw;’dUu:fui'éh (n
(A) ga (B) pgf (C) pg (D) pgh
1) Works on pascal's law: _LL(?//({/?J/’LJ& L (m
(A) Wedge < (B) Screw gauge C“z/ﬁ (C) Hydraulic preSStﬁgJ}/i’E (D) Vernier callipers J/?u{’,( s
IV) One pascal is equal to: -+414J$g.g (v
(A) INm B) INm™! () 1Nm? (D) 1Nm™
V) Hydraulic press works on: - L“/r Kuz’g..@/i’g (v
(A Pasczal's law B Newfon's law C) Hoolfe's law D Archjmedes prjnciple
/?uil?ﬁgf’g 4d/6’£u§:ﬁ 4u:’6'£..{ /?uiﬁ'ﬁuj.:"/l
V) The density of 500g stone having volume 200 cm will be: :dif Wﬁ&n{JZOO(AUKf}J(U’ﬁSOO i
@A) 1.5 gem™ B) 2.5 gem™ ) 3:5 gem™ D) 4.5 gem™
Write short answers of the following 2X7=14 q/[//’.pgm/ffé.pmrd Soun
I) Write some important features of kinetic molecular model of matter. -w‘@yﬁuwpg d/df L/gg L u@& ksl (1
I1) Which law is used in breaking system of cars and buses? S twr eIy L?U/uﬁ({’/ LUk
1) State Archimedes principle. _Q/uydﬂ%u’,g;ﬂ (m
IV) Write a short note on plasma. _u:“‘@,]/%l.ﬂg av
V) Define density and write its SI unit. e YK IESIS 5 (V
V1) Define young modolus. _q/ug/ﬁﬁrﬁ I
Vil Why does a piece of stone sink in water but a ship with a huge dﬁd/w}/l/“‘w'hgggﬁ_wgﬁuﬁ&y‘}@/z il
weight floats. Why? U b L“/;Qéﬂdydpw
Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’

1) Explain the working of hydrolic press on the basis of Pascal's law. -Q/ww;d/( Kiufg.,@i’gcjﬁuib"ﬁfg (1

2) Define stress and tensile strain and also write their formulas. _q/ugo@;l.é}/’d/q/ﬂfwﬂ’ﬁ/ (2



TEST > 6 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY

Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ

I) In Sl system, unit of density is: _‘aﬁggﬁ’;‘fuﬁﬁ/SI a
(A) kgm (B) kgm’ (c) kgm™ D) kgm™

Il) Atsea level, the atmospheric pressure is about: -+L"n@ }ﬁ.{f /;V Lf«i{u:f é/ n
(A) 100130 Pa (B) 103100 Pa (C) 110300 Pa (D) 101300 Pa

Ill) One pascal is equal to: -+rnztzfg~g an
(A) INm™ B8) 10°Nm™ () 10°Nm™ (D) 10* Nm™?

V) What should be the approximate length of glass tube to ?ng&ndy@uiéuu/u;fJ&?iiLla/%/;K&g av

construct a water barometer? " o i

(A) 0.5m (B) 1m (C) 2.5m (D) 11m

V) Which of the substance is the lightest one? -‘L&ﬁcy/(ab”))&f;’/ (v
(A) Lead -+ (B) Aluminum ff},i (C) Mercury d/& (D) Coper {K

VI) If force will be applied on smaller area, pressure will be come: -?ﬁgﬁ&%{;/ﬂylﬂﬁu)’w} (i
(A) Less [ (B) More »sLJ (C) Much less ﬁ/:,/ (D) Zero #*

Write short answers of the following 2X7=14 Q/gfaglﬁfgéoﬂlr‘ijgjﬂ
1) State the Pascal's law. U kussEEL @
Il) Why water is not suitable to be used in a barometer? ?L"nﬂuu‘rurf L’/Jla&’!uf.‘ /’-f;;./ dg (n
I11) Why does atmospheric pressure vary with height? ?c‘_D,wr..'}’ Dty ﬂ{..f [ (N

IV) On what factors pressure of a liquid depends? ?§.4J lfugl,ﬁ;lt{/i/?ééh v
V) Define elasticity. ST IR TRC

VI) What do you meant by Elastic limit? Sl P ad Lot (VI

Vi Calculate the volume of a gold bar of mass 0.2kg. The ,?gj"/(}’“‘(rlb KZU/JLVLJ Eﬁl/;KO.Z Vil

density of gold is 19300kgm ™. - 19300kgm ™ §HSL»

Write detailed answers of the following 5X2=10 q)}/’.puzwé.pmyd Soukr
1) Explain kinetic molecular model of matter. _q/wuﬁgfdfh/gg L.@é(éwh (1

2) Prove that pressure in a liquid increases with depth. -Latlgaz}i/?cazéﬁuﬁéhfq/cf.v (2



TEST > 6 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
I) In Sl unit of pressure is: ey
(A) J (B) N (C) Nm (D) Nm™?
Il) The fourth state of matter is called: -%JM:JBUEI,&?;L (n
(A) Solid U (B) Liquid &t () Gas ¥ (D) Plasma LJtk
lll) In S.I system, the unitof Young modulous is: _LL&{KJB}/‘..EJ:J%}'K/ (m
(A) Nm (B) Nom™ () Nm™ (0) Nm™
IV) Constant= Stress / Strain o IR =2l (Y
(A) Newton's lawe /6 6% (B) Pascal'slaw G6LFL  (C) Hook's law /#66—f (D) Archimedes lawg) /6 §(r4~
V) Mercury is ___ times denser the water. _‘Ldé@gjtf _:_dgd// (v
(A) 10.34 (B) 12.6 (C) 13.6 (D) 16.8
VI) Density=__ _=EH
Mass UL Mass Ju Weight 7 Weight 7
(A) Time =3 (B) Volume s (C) Volume v @) "Mass Ut
Write short answers of the following 2X7=14 Q/gfaglﬁfgéoﬂlr‘ijgjﬂ
I) Whatis a barometer? S sz (I
I1) State Hook's law. _q/ug/uisé.{ (n
Ill) Write properties of fourth state of matter. _uf‘iayﬁgf&bu%;&;h (m

IV) Write the term of pressure and write the factors on which it depends. ?‘agu; /;zJjuf]t{»i /:Q/’:.y /."d/ LUW!L}/ /"1.4 (v
V) How a submarine moves up the water surface and down into water? e uﬂf & /gﬂ,o IL& gﬂqfﬂ &QJ;/.T (v

V1) Can we use a hydrometer to measure the density of milk? U /r)afé’”%; ) AV
St 500gU AL s 200cm*

VIIl) The mass of 200cm’ of stone is 500g. Find its density. %, (vl
) 9 y S
Write detailed answers of the following 5X2=10 q)}/’.puzwéwvd bRyl (3 /.’U’r‘

State Archemedus principle and prove it and i : 1 .o 4
- eSS I Bl Sw PS 1l a
R derive equation of upthrust of liquid. Lol Jw J‘J ® & A “/UU S (4

2) Explain variation in atmospheric pressure. _Q/uygyu;/&iui/f.éJk (2




TEST 7 PHYSICS € 9th) (S T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) Degree is hotness or coldness of the body is called:
(A) Heat .17
Il) Which material has large specific heat?
(A) Mercury d/& (B) Water dg
lll) Letest heat of fusion of ice 0°C is given by:
(A) 33.6x10°JKg™! (B) 3.36x10°JKg™!
IV) Mercury is denser than water:
(A) 10 times /o (B) 12.5 times & 12.5

V) Unit of specific heat capacity in S| system is:

(B) Heat capacity .wl/u"j l/ (C) Temperature ny

(C) lce s

(C) 336x10°JKg™!

(C) 13 times /17

_@ifgﬁJLngﬁgr/ZﬁJ( (
(D) Thermal conductivity, # /U #
te Sobarde it 2200
(D) Copper ¢
e G F S5k $ o1, 0°C (m
) 3-36x10°JKg™!
e (v
(D) 13.6 times & 13.6
et A TUSE (V

(A) JKgK™! B) JKgK c) JKg' K™ o) J'KgK
VI) Water freezes at; —e by Z%{fdg i
(A) OK (B) -273k ) 0°F D) 32°F

2X7=14

Write short answers of the following

7 ez L e Wi S s i

I) What s difference between temperature and heat?
Il) Why heat is transferred from hot body to cold body?
lll) Define internal energy.

IV) Define thermal equilibrium.

V) Write the uses and range of clinical thermometer.
VI) Define lower and upper fixed points.

VII) Define co-efficient of linear thermal expansion and write its SI unit.

e G e ()

SO PUd Ut e Sz i
_J A5G aSE

SIS ASEASEISE (v
_q/ug@,,,uw@w}ﬁ{g v
-q/ﬂ/&ffz;ﬁm,l{; (VI
oSl S JS et O 1 3 (il

Write detailed answers of the following 5X2=10

BTN S I (3~ i

1) Convert normal body temperature into celsius and kelvin scale Q/’U:iui‘d:"/‘ u):’;;luﬂ/ff;/;{f/ L‘L()' &U! 1
2) How much heat is required to increase the temperature of 0.5kg of water 2720 by £ 65°C = 10° Ciy;f{ﬂ/l?o.s (2
from 10°C t065°C Specific heat of water is 42000 jkg ™'k - 42000 jkg ™'k~ /y‘;a/l/,{?fn/&ulﬁu'yd/



TEST 7 PHYSICS € 9th) (S T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) The specific heat of iron in joules per kilogram per kelven is:

(A) 387.0 (B) 470.0 (C) 503.0
Il) Rate of flow of heat is equal to:
2
(A) Qxt (B) % © <
t
lll) Which gas is used in spite of frozen gas in refrigerator:
N> ®) > ) N,

Y, The co-efficient of linear expansion and volume expansion are
related by the equation:

A) B=a B) B=2a

V) Which of the following affects evaporation:

(A) Temperature /};f
V1) On celsius scale 50°C s equal on Fahrenheit scale to:
(A) 90°F B) 100°F

© £=3a

(B) Surface area ofliquid,}/Ki/JéL (C) Wind Is

) 102°F

‘e Grot B H 32 & o fusT (
(D) 920.0
-94'46}J594£a/i/ an
U
G SUEIE S AT AR A (i
o) €O,

P Qg st pdom 225482

-q//;w}«.u;u
2
(D) f==
a
e bl (V

(D) Al 7

et L fFeA w6 50°C /Jf‘f“‘/ (vi

Write short answers of the following 2X7=14

D) 122°F
7 ez L e Wi S s i

I) How temperature determines the direction of flow of heat?
II) Change 300K temperature on kelvin into Celsius scale.
Ill) Write two characteristics of the liquid used in thermometer.
IV) What are Kelvin scale and Fahrenheit scale?
V) What is latent heat of vaporization? Write its equation.
VI) How does heating effects the motion on molecules of the gas?

Vi) Convert 50°C into foreheit temperature scale.

‘e tS eSS L et

I RS IE T 300K K
B O N ¢ IR Yoy ¢ |

?ugt”,(}:&%gu/w‘,}fu)/ (v
_uf‘@’fu,ugt_;’/gcwvfufﬁ%y v
S tw I Koz’]/?uﬁ/d/){gl.éuﬁf/ (VI
SIS EASE A 50°C (v

Write detailed answers of the following 5X2=10

BTN S I (3~ i

1) Explain linear thermal expansion in solids.
2) How much ice will 50,000J of heat? while latent heat of
fosion of ice is 336000 jkg ™'

S s iiu (1

,??UKEZJ/.‘)’;(@L{W&/VJ}?5O,OOO (2

—e 336000 kg~ e A F S5l S




TEST 7 PHYSICS € 9th) (S T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
I) Normal human body temperature is: -‘LZ%}K()'&LJL«:»JJDL' a
A) 15°C ®) 37°C () 98.6°C o) 37°F
I) On Celsius scale, the temperature 300k will be: -€%300k f//qu“” n
(A) 24°C B) 25°C () 26°C o) 27°C
Ill) Absolute zero temperature is: - et s pi sl (NI
A) 0°C @B) 100°C () —273°C (D) 100K
IV) The temperature at which a solid starts melting is called__point: < L“M.:ﬁi,chlgnC; /"b@igﬂ&ﬁ{f/&;} (v
(A) Boiling &i};.ﬁ’b{ (B) Freezing &i};u@} (C) Fusion &b;ui'rf (D) None u.?@/
V) 100°F" in Celsius scale equals to: _{n/‘;/‘J:J;‘;JﬁIOO"F (v
A) 35°C B) 37.8°C ) 39°C D) 50°C
VI) Heat always flow from___: -‘L(}ngﬁ" “ai 7 (VI
(A) Cold body to hot body (B) Hot body to cold body _(© Both of these D) Nope of these
BV = G ) 1 (R Y 9 PEVEY St e S i)
Write short answers of the following 2X7=14 Q/gfaglﬁfgéoﬂlr‘ijgjﬂ
1) Describe relation between heat capacity and quantity of substance. _Q/ug Jw'élﬁJi/,leL?‘@/!/ (|
Il) Differentiate between Heat and Internal energy. ?c‘_J}L[ui‘ &/‘U}-‘wuv n
Ill) Write the values of latent heat of fusion of aluminum and copper. _Mﬁd/wvf@u{@ t{,,!ﬁ%&! Cm
IV) Write factors on which evaporation of a liquid depends. ?§_4J lfdjti] KO /“d/d'f Lu%,;ag’ (v
V) What is the effect of temperature on evaporation? ?c‘_/“l L&ﬁ»f{’%ﬁ‘ (v
V1) Define co-¢fficient of volume expansion and write its S unit. u‘f‘i LSl S8 w&’/ﬁ%‘i’dﬁ(ﬁf'ﬁ (VI
VII) Explain specific heat capacity. - /ug/f l/ [}A/u‘ﬂ? (v
Write detailed answers of the following 5X2=10 "/': L;tzMLQWJ Soun
1) Convert 300K into celsius and fahren heit scale. -q/ “iuﬁg):‘;&,f‘w/ﬁmu’:’%y 300K (1

2) What is 50°C" of water in a baker is its value in fahrenheit sl el b SOOCé/fK&QJ}Z}*uf/QVQ (2
scale and kelvin scale. A S



TEST b 8 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
I) Insolid, heat is transferred by: -‘L,@}chifgjw"iiuﬁ(wluﬂ ¢
(A) Convection u'"’gr’/ (B) Conduction f g (C) Absorption cﬁul’/.l (D) Radiation uﬁiid,é/
Il) Example of a bad conductor is: -‘adt‘»d/}(ﬂu‘;t n
(A) Graphite &# L;gf (B) Wool s (C) Iron w#T (D) Gold s~
lll) Land breez and sea breez are result of; -uj‘(}ﬂgﬁjf.(ﬁﬂdx (J (m

(A) Convection u'"’gr’/ (B) Conduction f g (C) Absorption cﬁul’/.l (D) Radiation cfiid,ﬁj
IV) What happens to the thermal conductivity of a wall if its thickness is doubled: :C}: ;;?/ il J/Z’JJ I{é_/ L;C;Jt’ruclg;u/ (v
(A) Becomes half‘a@lgnu@i' (B) Remain same < (§%(§»  (C) Becomes double %J%ﬂgﬁj (D) Becomes on fourth+&lwb@

V) Worst absorber of heat is: _‘L(}no»{.,kgi'éqélu(cav (v
(A) White surface éféy (B) Coloured surface é/u“{ ©) Dull black surface D) ShiI1ing silvered surface
ClePutl CEEg
VI) In gases, heat is mainly transferred by: —e YA E S /:f (i

(A) Radiation 154, (B) Conduction o2 (C) Convection /5" (D) Molecular collision 5164

Write short answers of the following 2X7=14 Q/gfaglﬁfgéoﬂlr‘ijgjﬂ
I) What is meant by transfer of heat? ?a‘-;’/L[:_o/VJLi" a
Il) Write the uses of conductors and non-conductors. _uf{'uﬂlz&“’iz' f/fif bl }’f (]
lll) Define land breeze and sea breeze. ?c‘-ﬂ/l[c;dﬁ(iﬂd/.({‘ (m

IV) Why bottoms of cooking pots are made black? ?uginu:i/og’;,ggéuﬁx.é_bé_tgtu/ (v
V) What causes of glider to remain in air? e Yorbe stind iz (V

VI) Define radiation. _q/_g}JJ%U);/ i

VII) What is meant by conduction? ?;.ygfc;ff 20 vl

Write detailed answers of the following 5X2=10 Q’):/;QU;?MLQUVJ:;'?JA’

1) Explain the applications and consequencesof radiations. -q/yu; St Sl Ak (4
2) What is meant by convection currents and write its uses? _uf‘@lz&“%’ ?§_ng& /gfg/ (2



TEST b 8 PHYSICS 4 9th) (s T.MARKS @ 30
NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 S I (1)

1) Reason of glider toremain in air is:

(A) Conduction u;( g (B) Convection u'"’gr’/
Il) Heat transfers through fluids by the method called:
(A) Conduction u}( g (B) Convection u;g/

Ill) The major source of heat energy is:
(A) Sun Zus (B) Earth ¢’

IV) Thermal conductivity of rubber is:
A) 0.08Wm™'K' () 0.2Wm™ 'K

V) The ways by which transfer of heat takes place are:

(A) 1 (B) 2 (€)3

VI) Rooms are heated using gas heaters by :

(A) Radiation IS4,  (B) Convection =1

(C) Radiation /%154
-%TJL"L&}{}:‘L;‘E}&L&?’JE’&/’] (n
(C) Radiation /54

(C) Moon £

() 0.59Wm 'K

(C) Both Ushs

- J'{L/dflnézfg{:l,g a
(D) Power s{

(D) Absorption /1!
Ry A
(D) Nuclear fules 4 %
_+gn&£fﬂJ/?d/Z/ (v
o) 1.7Wm 'K
B &AL A JE (v
(D) 4

-%«;@4(/;/ _4/;.;&%:5;/;7% (i

(D) Conduction u;( g

2X7=14

Write short answers of the following

7 ez L e Wi S s i

1) What is thermal conductivity?

II) Write uses of non-conductors.

Ill) What is green house effect?
IV) Describe relation of radiation of heat and surface area.
V) Why transfer of heat in fluids takes place by convection?
V1) Write the ways by which transfer of heat takes place.

VII) On what factors radiations depends?

‘el le S04

Sz e 00 e

Sl e il S Qi
_Q/ug&l’”"@%j,u‘ﬁug,d/wv (v

e dTt S U PG (V
O L e (VI

St JFSASIEAIL, (VI

Write detailed answers of the following 5X2=10

BT SN (3~ i

1) Define thermal conductivity and derive its equation.

2) Write uses of conductors and non-conductors.

g Sl VS (4
o L s P (2




TEST b 8 PHYSICS 4 9th) (s T.MARKS @ 30

NAME ROLL NO SECTION
TEST TYPE 8TH DIVISION WISE DATE / / CHECKED BY
Circle the Correct Option 1X6=06 uf/@a}b{.,,lz;vﬂ
1) Thermal conductivity is directly proportional to: _%3nﬁg;4&£}i5& }?/i@’/? q
(A) Time L < (B) Area L | /! (C) Temperature L ﬁ/ (D) Length of conductordLd( # "
Il) Which of the following birds are expert thermal climbers: fur L}’U’)”J/?/[LL/C{&.—/L uﬁJ‘“ 5002 (NN
(A) Eagle — (B) Hawks L/ﬁ (C) Vultures i (D) All (l/"
IN1) The thermal conductivity of dry airin Wm™ 'K~ is: et Wm K S8 B
(A) 0.08 (B) 0.03 (C) 0.2 (D) 0.026
IV) Wateris ___ conductor of heat: _Laﬁ/ftf_&w!/&g (v
(A) Poor I.¢ (B) Good (C) Both U#ss (D) Exceptional good L fer
V) __ s good radiator of heat. e ﬁid,.t;/u’;iu(aﬂi“adufcuﬁ‘j“}gjp (v
(A) White surface éf & (B) %Z%; ci);red surface () %I}I;{I}ai;i?rface D) 2%1&?33 s;lﬂl/igd surface
VI) False ceiling is done to: _‘L(mﬁ”ﬁ_&wf &uﬂ(fr"” (I
(A) Keep the ceiling clean (B) Lowe/r the height of ceiling (€) Insulate }he ceiling D) Cool the room
(S s Pde ey o) fes S J
Write short answers of the following 2X7=14 q/[//’.pgm/ffé.pmrd Soun
1) Why conduction of heat does not take place in gases? %ﬁﬂg}{d’f{ffﬂuﬁ/»f (|
Il) Write two examples of good and bad conductors each. -uf‘ﬁuij L:‘»»JJ }( it u‘; szl =7
Ill) How does heat reaches us from the sun? ?955;"”/4/.1(74;@/;/@/!/ (m
IV) Why we avoid wear dark colour dresses in summer season? ?Q!L/;Lﬁz!u[c%gﬁ/é .fzg[ﬂui'h/?r (v
V) Write use of Styrofoam. _uf‘@la&’lt{(};/’lﬁ« (v
V1) Define convection and write its two examples. - ;d l:"awu /..y /U gfg/ i
VII) Deserts soon get hot during sunrise and soon get cold nz_,ﬁfkwéga'@;/‘nl(/ﬁfulwéu;’/‘ (vi
after sunset. Why? ‘-’u’.’./-uj Zl
Write detailed answers of the following 5X2=10 q)}/’.pyzwéwvd Soun
1) Explain the reason of sea breeze blows during the day and _96)5:55;£u;d ﬁ(ﬁﬂ9@%§5£c«bd/{f (1
land breeze blows during night. _Q/';w (s

2) What s rate of flow of heat? Explain different factors on /Li’{ J ’f...&l:';d;?ct-;’/l[@_c /"d/ Wl e (2
which it depends. ?96/
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